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Aufgabe 13

. 530
a) 530gsind 530 : 1000 = 7on = 053 kg

b) 4mmsind4:10 = % =04cm

50
3 o . _ _ 3
¢) 50 cm” sind 50 : 1000 = 1000 = 0,05 dm

d) 5c¢tsind5:100 = i =0,05€

100
705 5
2 o ) S e 2
e) 705 dm” sind 705 : 100 = 100 7100 7,05 m
Aufgabe 14
a)

(a) 43msind4,3-10 =43 dm

(b) 4,35 m sind 4,35 - 100 = 435 cm

(c) 4,005 m sind 4,005 - 1000 = 4005 mm
(d) 8,250 kg sind 8,250 - 1000 = 8250 g

(e) 4,50 a sind 4,50 - 100 = 450 m?
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b)
. 2
(a) 2cmsind2:10 = 0 =0,2dm
(b) 35 ¢ sind 35 : 1000 = 35 0,035 k.
g P 000 T

(c) 3,1 mm? sind

1 100 31 1 31
3,1.100—3E.T_E.ﬁ_m

732 32
2 1 : = —_-— —_—
(d) 732 dm* sind 732 : 100 = 100 7100 7,32

(e) 270 ml sind 270 : 1000 = 0,27 I

= 0,031 cm?

m2



